normalized X2

107}

1072

107

< x2/ndf >

Ratio

< x2/ ndf >

Ratio

[ normalized x? probability |

Ratio

0.06

Entries

299876
0.5411
0.32:

0.05

0.04]

0.03]

0.

W2 4 6 8 10 12 14 16 18 20

XZ

% 010203040506070809 1
Prob(x?)

m=s== DQM_CKF_XiMinusNOPU_base

== DQM_CKF_XiMinusNOPU_retrainOldFiles125_v2_prelimWPM_epoch2

1.8

1.6}

1.4

1.2F

iy

o.8f

0.6f

RV

L

=3 -2

-1 0 1 2 3

< X2/ ndf >
NN

[N

PR e e
e N B o o N
T

TTTT[ T[T T[T TTI[TTT

0.8]

1072

-1
AR(track, jelts)



	Contents
	Page 1


